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— WTPRA QY7 DN T’RW
For there is no Tum’oh of the hands in the Beis HaMikdosh

OVERVIEW
X2'py " taught' that we merited that there is no wipna o7 nxmw.” Our MOOIN
discusses the novelty of this statement by v¥"".

nooIn asks:
- 33'\9‘111 NN 112 PPN NN NPV N1PNY 0NY NN INNN PHYY 12929 NN

The 5" is astounded! Why should the 2>7> have become X% (even if there was
VIPn2 0770 DRM), for there was no ny7 nosn?!

mMooIN entertains a possible explanation:
= IV NYNY O NNPVN NNIND DDIDN DI (0w *x, 13 9m NNNNT XN 7993 9INT DIVN IN)

And if the 2>7° should have been &»v because of the 71wn cited in the last P92 of
7aam noon which states, ‘anything which is 72190 ®219 (i.e. a "1 or higher) is
N»u» the 297 to become a XMLy 1w’ —

mooIn rejects this explanation:
- *y9t) ©Y93 12 Y7999 7°99 NP 'NN 12 ON

If so why does the 823 ask, ‘both of them were decreed on the same day’ -
= 07 DNV N NMIIND MIVIOY D19 11N N

But they were not decreed on the same day for these 2°7° which are 72170 212

! y"4 was referencing the 73w» which stated that if a needle (which may have been xav) was found in the DwTpa W32;
the knife and the 0°7> (which came in contact with the needle) are 777 and the w2 is Xnv.
* Generally the hands of a person are considered 732772 Xnv as a *1w; they are 7170 Y010 and are wpi Xnwn, unless
they are cleansed by either 72°v1 (for 7m11n) or 19°2v (for wp). The reason will be discussed shortly. However in
the p"»m°2 the o1 were not 2°7° XMW M Therefore the °7° are Mnv (see footnote # 1).
? One of the reasons that 2°7> ono are X»v is because of ny771 10> (a lack of mindfulness), people are not aware at all
times what their hands are doing and since 777 nvipoy o7 (they are busy [all over the place]) we are concerned that
they were in contact with unclean objects. However in the w7pni7 n°a the 0°172 are constantly aware what their hands
are doing, for they are in the midst of the 7712y, so there is no concern of ny7i 1o>71, therefore why should there be
any reason that their hands should have a7 nxm.
* 1t should read 2,70, It is a mwn in 2" A"5 07> NOdA.
5 The 0" touched either the vnn a MR (which made the Xnv 2w2) or it touched the vrna XLV W2 (a °), in either
case they are (at least) 727077 NX 2019 so they should make the 27> a aRMY? "1W.
% The x 3 asked (initially) why did not ¥"9 include 0°%3 in his statement (he should have said 2°7° nx™W PRY 12037
wIpPna 0°701 [since the 1700 is also not Xnv (see footnote # 1)]). The X nx answered that the 07> N1 was decreed
before the 2°25 713 (so at that time there was no 023 7’1 even by 1217 [that a *9> can become Rnv from pwn]).
The &3 challenged this and cites a 71wn that both 2°7> n7°1 and 0°25 n713 were made on the same day (by the 71
227 n™).
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(the mwn the Xna cited 191 1907) is discussing 2°7° ano -
- AN NIMTI DIVTDY KIN IR NIY HNY 01 XPVM H1MIND HDIDN Y7 B 17

And these 2°7 regarding whom the 71wn (in 0°7°) states that R»w» 72907 90107 92
21w N7 av7°, that is only in regards to 2°w7p (and not to 7m7n)’ as is evident

in 7asan nDDD;S so if we are saying that the 0>7> should be 7105 (not on account of ny7i NI
[which is not applicable in the w7pn], but rather) because of 121 501971 %3, then this is not the same
77°T as @73 (of the 127 ™), how can the X713 argue that 1773 21°2 12 ¥71°1N0?!

N1B0IN answers:
- DAINT NN NN ONT 19T THT PHYS 13939 XM

And the °'"9 answered that this 79°» of 0°7° ono is certainly not the ;793 of

FIAMT N20M that NPIw NPA? D70 DR XAV TN DR D010 70 (as MO maintained in the
question) -.

=T 190U 091 DNON 1TV RINDM NIN
Rather, presumably when the 0°2211 were =12 that 2>7> ane should be n»w to

be [m1n] P00 -
- L 1905w PUNaa msann o1 Y XNPNDM 19 19 191

The o121 were presumably also 913 on 2°7° which touch a Pwxs that they

should be ny»w and be [F72yn] 010 -
- IV DAY BAY 730 PYUNT NIIY ONNA HIaw 031 %30 795

Therefore these 2°7° which touched the (needle) [meat] which is a 7wK9

821>, should have been a " (since they were already 93 on 27> ano [which includes
WKL WA 2°7°]) -

$UTPNA DT NIV PRT NON
However the 0°7° are 7770 since wWTPR 2%7% NNRIW PN!

SUMMARY

There was first the 77°13 of 2°7> ano (to be Y019 [even] m17N); included in this 77773
was that 0>7° which touched a w1 should become a °1w. Then there was a later
7713 that 72907 DR 90197 93 is 0°7°7 XL to be MW in regards to 2°WTR only.

7 This refers to 'w7p outside the p"n2 like o°H>w"a DMow Wwa.
8 See there ®,75 that 7m0 X2 Ya8 WNPY 10120 XL 7.
® The 127 Ma7 amends this to read 1713 g2 NP,
' Even though that at that time they were not 713 on *1w32 wxw o°7 (for that was the later 77713 of 7”107 NX 01971 22
(which is a ") is WP 071> RHWVY), they were however 113 on MWR12 Wwaw a7 for that should not be considered less
Xnv than a°7° ano (which [knowingly] did not touch any 7Xm0).
"' The n"21 N3 amends this to read 7327 0% Nrw.
12 The n"a:7 N7 amends this to read X1w w3 WA (instead of RITW VAN WAIW).
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THINKING IT OVER

The X723 later offers two explanations concerning this vrn; one of 27 KR 777 M
(that 9w22 773 N XY VAR 17 7728 132) and one of 172X 72 °01 ' (that A0 AW A
oW1 YIma XY amon 779). Is the discussion in our Mmoo applicable to both
these interpretation or only to one (and which one)?"

13 See 7°xn N2 and the 2™,
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